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 ECO-10  

BACHELOR’S DEGREE PROGRAMME 

Term-End Examination 

December, 2021 
 

ELECTIVE COURSE : COMMERCE 

ECO-10 : ELEMENTS OF COSTING 

Time : 2 hours Maximum Marks : 50   

Note :  Attempt any two questions from Section A and any 

two questions from Section B. 

 

SECTION A 

1. What factors should be considered before 

installation of a system of costing in a 

manufacturing concern ?  10 

2. (a) What are the objectives of Cost Accounting ? 5   

(b) Explain the ABC system of inventory 

control.   5 

3. Write short notes on any two of the following : 5+5 

(a) Process Costing 

(b) Cost Centre  

(c) Bin Card  

(d) Piece Wage System 

No. of Printed Pages : 8 
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SECTION B 

4. The profit disclosed by cost account books was  

< 17,000. The causes for difference in the profit 

of financial accounts books have been identified 

as under : 

            < 

(i) Over-recovery of office   2,000 

 overheads in cost accounts  

(ii) Loss due to obsolescence  6,000 

 charged in financial accounts 

(iii) Depreciation charged in  2,400 

 cost books 

(iv) Depreciation charged in  1,600 

 financial books 

(v) Loss in stock value recorded  400 

 in financial books  

(vi) Interest on investment received 8,000 

 but not included in cost books 

(vii) Income tax recorded in financial  1,000 

 books 

(viii) Bank interest credited in financial  1,000 

 books 

(ix) Stock adjusted and credited in 400 

 financial books 

(x) Works overhead under-recovered  4,000 

 in cost books  

 Prepare a Reconciliation Statement to find out 

the profit as per the books of financial accounts. 15   
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5. Product ‘Z’ is obtained after it passes through 

three distinct processes. The following 

information is obtained from the costing 

department :  

Particulars Total Processes 

 
 

(<) 

I 

(<) 

II 

(<) 

III 

(<) 

Direct Material 7,542 2,600 1,980 2,962 

Direct Wages 9,000 2,000 3,000 4,000 

Production 

Overheads 
9,000 – – – 

 1,000 units @ < 3 each were introduced in 

Process-I. Production overheads are recovered at 

100 percent of direct wages. No stock of material 

or work-in-progress at beginning or ending of the 

period. 

 The following additional data are obtained :   

Particulars Processes 

 I II III 

Output (units) 950 840 750 

Normal loss (in %) 5 10 15 

Value of scrap per unit 

(<) 2 4 5 

 Prepare Process Accounts. 15 
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6. Calculate the Machine Hour Rate from the 

following data : 15 

        Details   

(a) Cost of machine (<)    1,90,000 

(b) Installation charges (<)    10,000 

(c) Working life  5 years 

(d) Repair and maintenance  40% of deprecation  

(e) Annual power expenses (<) 6,000 

 @ 25 paise per unit  

(f) Eight hourly charges : 

 (i) Power (<) 24 

 (ii) Lubrication oil (<) 20 

 (iii) Consumable stores (<) 28 

 (iv) Wages (<) 80  
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 B©.gr.Amo.-10  

ñZmVH$ Cnm{Y H$m`©H«$_ 
gÌm§V narjm 

{Xgå~a,  2021  

EopÀN>H$ nmR²>`H«$_ : dm{UÁ` 

B©.gr.Amo.-10 : bmJV boIm Ho$ _yb VÎd 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50   

ZmoQ> :  IÊS> H$ _| go {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE VWm IÊS> I _| 
go {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE & 

IÊS> H$ 

1. {H$gr CËnmXZ à{VîR>mZ _| bmJV {ZYm©aU V§Ì ñWm{nV H$aZo 
go nhbo {H$Z H$maH$m| na {dMma H$aZm Amdí`H$ h¡ ?   10 

2. (H$) bmJV boIm§H$Z Ho$ Š`m CÔoí` h¢ ?  5   
(I) _mb-gyMr {Z`§ÌU H$s ABC àUmbr H$mo ñnîQ>  

H$s{OE &   5 

3. {ZåZ{b{IV _| go {H$Ýht Xmo  na g§{jßV {Q>ßn{U`m±  
{b{IE : 5+5  

(H$) à{H«$`m bmJV-{ZYm©aU  

(I) bmJV Ho$ÝÐ 

(J) {~Z H$mS>© 

(K) H$m`m©Zwgma _µOXÿar nÕ{V 
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IÊS> I 

4. bmJV boIm§H$Z boIm Ho$ AZwgma bm^ < 17,000 Wm & 
{dÎmr` boIm Ho$ bm^m| _| AÝVa Ho$ {ZåZ{b{IV H$maU nmE 
JE :  
             <  

(i) bmJV boIm§H$Z _| H$m`m©b` Cn[aì``   2,000 

 H$s A{V-dgybr  

(ii) {dÎmr` boIm _| AàMbZ Ho$ H$maU hm{Z   6,000  

(iii) bmJV boIm _| gpå_{bV Ad_yë`Z   2,400 

(iv) {dÎmr` boIm _| gpå_{bV Ad_yë`Z 1,600 

(v) {dÎmr` boIm _| A§{H$V ñQ>m°H$ _yë` _| H$_r  400 

(vi) {Zdoe na àmßV ã`mO {OgH$mo bmJV boIm 8,000 

 _| gpå_{bV Zht {H$`m J`m 

(vii) {dÎmr` boIm _| A§{H$V Am`H$a  1,000 

(viii) {dÎmr` boIm _| O_m ~¢H$ ã`mO  1,000 

(ix) ñQ>m°H$ g_m`mo{OV Am¡a {dÎmr` boIm _| O_m  400 

(x) bmJV boIm _| Aën-dgybr {H$E JE 4,000 

 H$m`© Cn[aì`` 

 {dÎmr` boIm Ho$ AZwgma bm^ H$m nVm bJmZo Ho$ {bE 
g_mYmZ {ddaU V¡̀ ma H$s{OE &  15            
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5. VrZ {ZpíMV à{H«$`mAm| _| go JwµOaZo Ho$ níMmV CËnmX ‘Z’ 

àmßV hmoVm h¡ & bmJV {ZYm©aU {d^mJ go {ZåZ{b{IV 
gyMZm àmßV hþB© :  

ã`m¡am Hw$b à{H«$`mE± 

 
 

(<) 

I 

(<) 

II 

(<) 

III 

(<) 

àË`j gm_J«r 7,542 2,600 1,980 2,962 

àË`j _µOXÿar 9,000 2,000 3,000 4,000 

CËnmXZ Cn[aì`` 9,000 – – – 

 à{H«$`m-I _| 1,000 BH$mB© à{V BH$mB© < 3 H$s Xa na 
gpå_{bV H$s JBª & CËnmXZ Cn[aì`` àË`j _µOXÿar Ho$ 
100 à{VeV H$s Xa na dgybo JE & {H$gr à{H«$`m Ho$ Z Vmo 
àmaå^ _| Am¡a Z hr AÝV _|, Z Vmo gm_J«r H$m ñQ>m°H$ Am¡a 
Z hr Mmby H$m`© Wm &  

 BgHo$ A{V[aº$ {ZåZ{b{IV Am±H$‹S>o ^r àmßV hþE :  

ã`m¡am à{H«$`mE± 

 I II III 

CËnmXZ (BH$mB©) 950 840 750 

gm_mÝ` hm{Z (% _|) 5 10 15 

à{V BH$mB© aÔr _mb H$m _yë` 
(<) 

 

2 

 

4 

 

5 

 à{H«$`m boIm V¡`ma H$s{OE &  15  
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6. {ZåZ{b{IV Am±H$‹S>m| H$s ghm`Vm go _erZ KÊQ>m Xa H$s 

JUZm H$s{OE :  15  

 ã`m¡am 

(H$) _erZ H$s bmJV (<)   1,90,000  

(I) ñWmnZm IM© (<)  10,000 

(J) H$m`© H$aZo `mo½` g_`   5 df© 

(K) _aå_V Am¡a aIaImd  Ad_yë`Z H$m 40% 

(L>) dm{f©H$ {~Obr IM© (<)>  6,000 

 @ 25 n¡go à{V ỳ{ZQ 

(M) à{V 8 KÊQ>m IM© :   

 (i) {~Obr (<) 24 

 (ii) ñZohH$ Vob (<) 20 

 (iii) Cn^moÁ` gm_J«r (<) 28 

 (iv) _µOXÿar (<) 80 

 


